'! PONTEFRACT

Y4
Remote
Leamning

ANSWER PAC

22th- 26" February
2021



Fractions greater than 1

° Complete the sentences.

&
= =

There are 7 fifths altogether.

7 fifths = |I| whole +[ 7 | fifths

There are fifths altogether.

fifths = wholes +
Izl fifths

o Complete the statements.

a) 12 Izl wholes
2
12 _

b) 12 whols
12 _

[4] + whols
12 _

d) 5 whols

(3] 13_5 = wholes

f) % = wholes

g) 14_5 = wholes + quarters
h) 11_5 = wholes + II’ half

° Whitney bakes 26 muffins.
Muffins are pocked in boxes of 4

a) How many boxes can Whitney fill?

Whitney can fill boxes.

b) How many more muffins does Whitney need to fill
another box?

Whitney needs muffins to fill another box.

Explain how you know.

Doe anded  bopit Mo Seabes
26

How does writing = help you to answer this?
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o Shade the bar models to represent the fractions.

Complete the number sentences.

W77 AV Z2AV 2
Zarzdnzz.] |

-g.xIIIwhole+thirde

b)

wijoo

VZZAa7zzaVzza
2 | 7722]2222]
(222001 72221 |

%-MOlﬁ¢thir¢- 9%

wilo
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zuVzarzA I

%-,Ilwhole&ﬁhhs-

o Write <, > or = to complete the statements.

a) 2 wholes and 3 quarters

b) 2 wholes and 3 quarters @ 15 quarters

5 quarters

€) 2 wholes and 3 sixths 15 sixths

d) 2 wholes and 3 eighths @ 15 eighths
15 15

e) 3 @ 5
15 20
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la Various answers, for example:
1 & 2 5 3 i

T and g g and g
da. False. The image shows seven fhirds which
Is equal fo hwo wholes and one fhird.

3o iimon s comect bec ouse there are beo
whole shapes shaded and one half of fhe fhird

shape.

;T4 and T4

Greater Depih
7o Various anawers, for example:
12 17 N 18 14 15

12 dy gendyy e gy
Accepl comect answers given in shrifs.

Bo. False. The mage shows forby -six baeliihs
which do&sn't have an equivalent of ninihi.
fo. Emily ond Jocob are both comect
becouse the froclion shown s lorty-two
élghtesnths which iy egquivalent io heenty -
#ight hweltths ond ftourteen siihs.
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Than 1

i d il
2a. Four thirds shaoded:

n
lwhﬂluund1pcﬂig'

3a. 1 whole and 1 part

7a. E_:lm

Bao. 4 wholes and é party shaded.
@: ‘ @
&
fa. 2 wholes and 7 parts
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Count in fractions o Complete the number lines.
a)
2 3 a = I 7
3 3 3 3 3 3
| l 1 | | ]
| I 1 I I 1
i 1
o Complete the number lines. % 1 | é 1% 2 2 3
a)
2 3 X 1 E
H H 5 ‘ s 15
| | | l ] | b)
I 1 I I I 1
ENTT] EET)  EERED oo I TEEER
E1D ®ETD 3 5 3 9 n 13
7 7 3 7 7 Ed
| | | | | |
| I I I | 1
3 3 1 2 4 .
7 7 1 7 1 7 | ¥
b)
3 L 2 3
& | (- 1% 13 2 9
| | | | | |
I T T T T 1
===l =D 27 12 7 2
5O = T L
| l 1 | | |
| I I I 1 |
5% L3 33 | 2 2
5 5 5 23 15 2
o Write the next three fractions in each sequence. ° Amir, Dexter and Dora are counting in fractions.
ol 2 3 |4 =
3 8 8 lE | 8 9 10 11
10" 10" 10" 10
SRR RIEY
The next fraction
- 12
“ 0
The next fraction )
i IS
10
Dexter
The next fraction
1
° What is the missing fraction? = IE
Give two possible answers.
w8 12 16 20 8 32
3" 3" 3" 3" ''3° 3
a) Who iscorrect? A0
Ay
. Explain your answer.
j}:,gﬂ_ax_gjl snuiualaak
b8, 12, 16 20 28 32 o
5" 5" 5" 5" ‘''5"5
b) Compare answers with a partner. @

)

B 12 16 20 28 32
P R I 7T
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Math lesson 2Answers

Reasoning and Problem Solvi
Count in Fractions

Developing
o4 3 2 .1 . 2
-3 T3 3 3 1.3

2q. Various answers, e.g. decrease hle

making the fifth fraction % .

3a. Adam is incomrect. The next number

should be 1% because the sequence

decreases by % each time.

Varied Fluency
Count in Fractions

Developing

1a. % and % should be shaded.

7
2a.
3a. % ; the next two numbers in the

sequence ure1% and 1 %
2 5 . i 12
4a. 3 and 3 ; the sequence is 3" 3"

1 2
I,Iaundla.
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Greater Depth
Jg. 1L 13 9% 7 ;3 9

Q- 30" 70° 10° "10° "10° 10
8a. Various answers, e.g. increase by %
making the fifth fracfion 2%.
9a. Iira is comect. The next number should
be 3% which is equivalent to 3%
because the sequence decreases by %

each time.

Greater Depth
9a.1-2-and 2

Iﬂu.%
1a. 2%; the next two numbers in the

sequence are 2% and 2 % .

- 8 . R
12a. 3 and 5 the sequenceis 1 3 2,

2 a1
23,33 and 4.
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Add fractions

¥

00w

o)un
+

o jw
"

0 Complete the additions.
Use the bar models to help you.

T ]

W=
W
o]

o Complete the part-whole models.

T8

a)

" T T ]
‘C N [ ]

w|—=
|-
[t |

W=
+
wi|Nn
"
[abe |

— b)
WAL A za7Z\E R oF,
| '%7 s*sT| 3
° Shade the circles and complete the additions. e e
a) b)
Which part-whole model is the odd one out? M&ioun
Talk about your choice with a partner. Did they choose the @
1.3 same odd one out?
a3
8 8 (g
© Whate Rose Mutha 2030
° Alex and Huan are eating a cake. o Annie has baked 12 muffins.
Alex eats % of the cake. She puts them into 2 boxes.

Huan eats % of the cake. What fraction of the muffins could she put in each box?

What fraction of the coke have they eaten altogether? Complete the table to show four possibilities.

One has been done for you.

1 n
3 12 12
They have eaten of the cake altogether. 2 _lg
[ ]
3
B =
A 1
o Teddy is adding fractions. 9 - -
5 3
9 c 3
£ £
(o)®) % 2
. ]

Are there any other possibilities? Talk about it with a partner.

a) Draw a bar model to show that Teddy is wrong.

( A o Complete the additions. g

S

-

LN

b) Complete the cddition — + T =

12 |2
FI Rl
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Reasoning and Problem Solvin

Add Fractions
Greater Depth
7a. Joshua is correct because he has
Developing b 3
1a. Finn is incorrect because he has simpilied 22 o m In order the match
added the denominators as well as the the denominators in the other numbers in
numerators. The correct answeris 3 order to get the comrect answer.
4 8a. Various possible answers, for example:
2a. Various possible answers, for example: 0 8 1 7 2 5
0 3 1 2 2 1 12775 + 75 Y75 and 5+ 0
0.2 .22t 12 12 12 12 12 12
4 4 4 4 4 4 9a. 2 3 4 9
%o.2,1._3 T ARTRETREN
4 4 4
Varied Fluency
Add Fractions
Developing
la.A-3 B-4
4 5
2a. Greater Depth
1 4 5
+ = 9a.A-3,B-7
8 8 8
10a. 10
3a. False; answer should be % 11a. False: it is %
4a. 7 12a. 10

1
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Add 2 or more fractions

o Complete the additions.

a)

tJ
s GO

d) Which part-whole model is the odd one out?

W=
+
g
n
L1

Explain your choice to a partner.

Did you both have the same answer?

]
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